

10) Evaluate the Improper Integrals:

10 $\int_0^{\infty} \frac{dx}{x^2+1}$

Solve:

$$\begin{aligned} I &= \lim_{t \rightarrow \infty} \int_0^t \frac{dx}{x^2+1} = \lim_{t \rightarrow \infty} \left[\tan^{-1}(x) \right]_0^t \\ &= \lim_{t \rightarrow \infty} \left[\tan^{-1}(t) - \tan^{-1}(0) \right] \\ &= \tan^{-1}(\infty) - 0 = \tan^{-1}\left(\frac{1}{0}\right) = \frac{\pi}{2}. \end{aligned}$$

11 $\int_0^1 \frac{dx}{\sqrt{1-x^2}}$

Solve:

$$\begin{aligned} I &= \lim_{t \rightarrow 1^-} \int_0^t \frac{dx}{\sqrt{1-x^2}} = \lim_{t \rightarrow 1^-} \left[\sin^{-1}(x) \right]_0^t \\ &= \lim_{t \rightarrow 1^-} \left[\sin^{-1}(t) - \sin^{-1}(0) \right] \\ &= \sin^{-1}(1) - 0 = \frac{\pi}{2}. \end{aligned}$$

$$\textcircled{3} \int_{-\infty}^{\infty} \frac{2x}{(x^2+1)^2} dx$$

Soln:-

$$I = \int_{-\infty}^0 \frac{2x}{(x^2+1)^2} dx + \int_0^{\infty} \frac{2x}{(x^2+1)^2} dx$$

$$= \lim_{t \rightarrow -\infty} \int_t^0 \frac{2x}{(x^2+1)^2} dx + \lim_{s \rightarrow \infty} \int_0^s \frac{2x}{(x^2+1)^2} dx$$

$$I_1 = \lim_{t \rightarrow -\infty} \int_t^0 \frac{2x}{(x^2+1)^2} dx$$

$$= \lim_{t \rightarrow -\infty} \int_t^0 (x^2+1)^{-2} \cdot 2x dx$$

$$= \lim_{t \rightarrow -\infty} \left[\frac{-1}{(x^2+1)} \right]_t^0 = \lim_{t \rightarrow -\infty} \left[-1 + \frac{1}{t^2+1} \right]$$

$$= -1 \rightarrow (1)$$

$$\begin{aligned}
 I_2 &= \lim_{s \rightarrow \infty} \int_0^s \frac{2x}{(x^2+1)^2} dx \\
 &= \lim_{s \rightarrow \infty} \int_0^s (x^2+1)^{-2} \cdot 2x dx \\
 &= \lim_{s \rightarrow \infty} \left[\frac{-1}{x^2+1} \right]_0^s = \lim_{s \rightarrow \infty} \left[\frac{-1}{s^2+1} + 1 \right] \\
 &= 1 \rightarrow (2)
 \end{aligned}$$

Where $I = I_1 + I_2 = 1 - 1 = 0$.

4 $\int_0^2 \frac{s+1}{\sqrt{4-s^2}} ds$

Soln:

$$\begin{aligned}
 I &= \lim_{t \rightarrow 2^-} \int_0^t \frac{s+1}{\sqrt{4-s^2}} ds \\
 &= \lim_{t \rightarrow 2^-} \left[\int_0^t \frac{s}{\sqrt{4-s^2}} ds + \int_0^t \frac{1}{\sqrt{4-s^2}} ds \right]
 \end{aligned}$$

$$= \lim_{t \rightarrow 2^-} \left[\frac{-1}{2} \int_0^t (4-s^2)^{-1/2} \cdot (-2s) ds + \frac{1}{2} \int_0^t \frac{1}{\sqrt{1-\frac{s^2}{4}}} ds \right]$$

$$= \lim_{t \rightarrow 2^-} \left[-\frac{1}{2} \cdot 2 (4-s^2)^{1/2} + \frac{1}{2} \sin^{-1}\left(\frac{s}{2}\right) \right]_0^t$$

$$= \lim_{t \rightarrow 2^-} \left[-(4-t^2)^{1/2} + 2 + \frac{1}{2} \sin^{-1}\left(\frac{t}{2}\right) - \frac{1}{2} \sin^{-1}(0) \right]$$

$$= 2 + \frac{\pi}{2} = \frac{4+\pi}{2}.$$

$$\text{Ex: } \int_{-\infty}^{\infty} 2x^{-x^2} dx$$

Ans:

س. جاد م. ابراهيم (أ) لا تقدر تقبلون بجزءي هذا.

Emails:

ahmedarafat_maths@yahoo.com

ahmedarafat_maths@skype.com.

$$\boxed{6} \int_0^{\pi} \frac{\sin x}{\sqrt{x}} dx$$

Soln: By using matlab Programme to solve it
or use Fresnel integral. (it's advanced Ex:!!)

In any Case,

$$\text{Let } \sqrt{x} = u \Rightarrow du = \frac{dx}{2\sqrt{x}}$$

$$x: 0 \rightarrow \pi$$

$$u: 0 \rightarrow \sqrt{\pi}$$

$$\therefore I = \int_0^{\pi} \frac{\sin x}{\sqrt{x}} dx = \int_0^{\sqrt{\pi}} \sin u^2 du$$

By using Fresnel integral, we have

$$I = \sqrt{2\pi} S(\sqrt{2}), \text{ where } S(x) \text{ is the Fresnel Power series.}$$



Q) Testing For Convergence :-

$$1) \int_0^{\pi/2} \tan \theta \, d\theta$$

Soln:-

$$I = \lim_{t \rightarrow \frac{\pi}{2}^-} \int_0^t \tan \theta \, d\theta = \lim_{t \rightarrow \frac{\pi}{2}^-} \int_0^t \frac{\sin \theta}{\cos \theta} \, d\theta$$

$$= - \lim_{t \rightarrow \frac{\pi}{2}^-} \left[\ln |\cos \theta| \right]_0^t = \lim_{t \rightarrow \frac{\pi}{2}^-} \left(\ln |\cos t| - \ln(1) \right)$$

$$= - \ln |\cos(\frac{\pi}{2})| = +\infty \quad (\text{divergence})$$

$$2) \int_1^{\infty} \frac{dv}{\sqrt{v-1}}$$

Soln:-

$$I = \lim_{t \rightarrow \infty} \int_1^t \frac{dv}{\sqrt{v-1}} = \lim_{t \rightarrow \infty} \int_2^t (v-1)^{-1/2} \, dv$$

$$= \lim_{t \rightarrow \infty} \left[2\sqrt{v-1} \right]_2^t = \lim_{t \rightarrow \infty} [2\sqrt{t-1} - 2]$$

$$= 2 \lim_{t \rightarrow \infty} \left[\sqrt{t-1} - 1 \right] = 2 \lim_{t \rightarrow \infty} \left[\sqrt{t-1} - 1 \times \frac{\sqrt{t-1} + 1}{\sqrt{t-1} + 1} \right]$$

$$= 2 \lim_{t \rightarrow \infty} \frac{t-1-1}{\sqrt{t-1}+1} = 2 \lim_{t \rightarrow \infty} \frac{t-2}{\sqrt{t-1}+1} \\ = +\infty \text{ (divergence).}$$

Ex $\int_1^{\infty} \frac{\sqrt{x+1}}{x^2} dx$

Soln: Let $f(x) = \frac{\sqrt{x+1}}{x^2}$ and $g(x) = \frac{\sqrt{x}+1}{x^2}$

Where $\lim_{x \rightarrow \infty} \frac{f(x)}{g(x)} = \lim_{x \rightarrow \infty} \frac{\sqrt{x+1}}{\sqrt{x}+1} \cdot \frac{x^2}{x^2} \\ = 1.$

And $f(x) \leq g(x) \Rightarrow \frac{\sqrt{x+1}}{x^2} \leq \frac{\sqrt{x}+1}{x^2}$

Now, we calculate the integral

$$I = \int_1^{\infty} g(x) dx = \int_1^{\infty} \frac{\sqrt{x}+1}{x^2} dx \\ = \lim_{t \rightarrow \infty} \int_1^t \frac{\sqrt{x}+1}{x^2} dx = \lim_{t \rightarrow \infty} \int_1^t (x^{-3/2} + x^{-2}) dx \\ = \lim_{t \rightarrow \infty} \left[-\frac{2}{\sqrt{x}} + \frac{1}{x} \right]_1^t$$

$$= \lim_{t \rightarrow \infty} \left[\frac{-2}{\sqrt{t}} - \frac{1}{t} + 2 + 1 \right]$$

$$= \lim_{t \rightarrow \infty} \left[3 - \left(\frac{2t + \sqrt{t}}{t\sqrt{t}} \right) \right]$$

$$= \lim_{t \rightarrow \infty} 3 - \lim_{t \rightarrow \infty} \left[\frac{2t + t^{1/2}}{t^{3/2}} \right]$$

$$= 3 - 0 = 3.$$

i.e. $\int_1^{\infty} g(x) dx$ is convergent $\Rightarrow \int_1^{\infty} f(x) dx$ is convergent.

$$\boxed{4} \int_{\pi}^{\infty} \frac{2 + \cos x}{x} dx$$

Soln:- Let $f(x) = \frac{2 + \cos x}{x}$ and $g(x) = \frac{3}{x}$

where $\lim_{x \rightarrow \infty} \frac{f(x)}{g(x)} = \lim_{x \rightarrow \infty} \frac{2 + \cos x}{x} \cdot \frac{x}{3}$

Since $|\cos x| \leq 1$

$$\therefore \lim_{x \rightarrow \infty} \frac{f(x)}{g(x)} = 1.$$

And $f(x) \leq g(x) \Rightarrow \frac{2+\cos x}{x} \leq \frac{3}{x}$

Now, we calculate the integral

$$\begin{aligned} I &= \int_{\pi}^{\infty} g(x) dx = \int_{\pi}^{\infty} \frac{3}{x} dx \\ &= \lim_{t \rightarrow \infty} \int_{\pi}^t \frac{3}{x} dx = 3 \lim_{t \rightarrow \infty} (\ln t - \ln \pi) \\ &= +\infty \text{ (divergent)} \end{aligned}$$

In this case, ~~As since~~ This doesn't say anything about the smaller function ($f(x)$).

Now, we will look for another function

Let $h(x) = \frac{1}{x}$, where $f(x) \geq h(x)$

we will calculate the integral.

$$\begin{aligned} I^* &= \int_{\pi}^{\infty} h(x) dx = \int_{\pi}^{\infty} \frac{1}{x} dx \\ &= \lim_{t \rightarrow \infty} \int_{\pi}^t \frac{1}{x} dx = \lim_{t \rightarrow \infty} [\ln x]_{\pi}^t \end{aligned}$$

$$= \lim_{t \rightarrow \infty} (h_1(t) - h_1(\pi)) = +\infty \text{ (divergent)}$$

Then $\int_{\pi}^{\infty} \frac{2 + \cos x}{x} dx$ is divergent

⑤ $\int_{-\infty}^{\infty} \frac{dx}{e^x + e^{-x}}$

Soln

$$\therefore I = \int_{-\infty}^0 \frac{dx}{e^x + e^{-x}} + \int_0^{\infty} \frac{dx}{e^x + e^{-x}}$$

$\downarrow$ $\downarrow$
 I_1 I_2

where $\cosh x = \frac{e^x + e^{-x}}{2}$

$$\therefore I_1 = \frac{1}{2} \int_{-\infty}^0 \frac{2}{e^x + e^{-x}} dx = \frac{1}{2} \int_{-\infty}^0 \operatorname{sech} x dx$$

$$= \frac{1}{2} \lim_{t \rightarrow -\infty} \int_t^0 \operatorname{sech} x dx$$

$$= \frac{1}{2} \lim_{t \rightarrow \infty} \left[\tan^{-1}(\sinh(x)) \right]_t^0$$

$$= \frac{1}{2} \lim_{t \rightarrow \infty} \left[\tan^{-1} \left(\frac{e^x - e^{-x}}{2} \right) \right]_t^0$$

$$= \frac{1}{2} \lim_{t \rightarrow \infty} \left[\tan^{-1}(0) - \tan^{-1} \left(\frac{e^t - e^{-t}}{2} \right) \right]$$

$$= \frac{1}{2} \left(\frac{\pi}{2} + \frac{\pi}{2} \right) \rightarrow (1)$$

$$I_2 = \frac{1}{2} \lim_{s \rightarrow \infty} \int_0^s \operatorname{sech} x \, dx$$

$$= \frac{1}{2} \lim_{s \rightarrow \infty} \left[\tan^{-1} \left(\frac{e^x - e^{-x}}{2} \right) \right]_0^s$$

$$= \frac{1}{2} \lim_{s \rightarrow \infty} \left[\tan^{-1} \left(\frac{e^s - e^{-s}}{2} \right) - \tan^{-1}(0) \right]$$

$$= \frac{1}{2} \left[\frac{\pi}{2} - \frac{\pi}{2} \right]_{s \rightarrow \infty} \rightarrow (2)$$

$$\therefore I = I_1 + I_2 = \frac{\pi}{2} \rightarrow (\text{Convergent})$$

$$6) \int_0^2 \frac{e^{-\sqrt{x}}}{\sqrt{x}} dx$$

Soln:

$$I = \lim_{t \rightarrow 0^+} \int_t^2 \frac{e^{-\sqrt{x}}}{\sqrt{x}} dx$$

$$= -2 \lim_{t \rightarrow 0^+} \int_t^2 -\frac{e^{-\sqrt{x}}}{2\sqrt{x}} dx$$

$$= -2 \lim_{t \rightarrow 0^+} \left[e^{-\sqrt{x}} \right]_t^2$$

$$= -2 \lim_{t \rightarrow 0^+} (e^{-\sqrt{2}} - e^{-\sqrt{t}})$$

$$= -2 (e^{-\sqrt{2}} - 1) \rightarrow (\text{convergent})$$

لقد حصلنا على النهاية، انقرب إلى صفر وتكون القيمة

من الصفر. أرى أن

طبيعي

مطلوب